
  
 

Demonstration of the BULATS Computer Test – Answer Key  
 
Screen One (Discrete listening – 3 option multiple choice)  
Why is the woman phoning?  
Answer:  C 
 
Screen Two (Longer reading – 4 option multiple choice)  
Job Descriptions – The Translator  
Question one: D 
Question two: D 
Question three: C 
Question four: A 
 
Screen Three (Discrete reading – 4 option multiple choice)  
Job application  
Answer:  A 
 
Screen Four (Longer listening – 3 option multiple choice)  
Mrs Green  
Question one: A 
Question two: B 
Question three: C 
Question four: C 
Question five: B 
Question six: A 
 
Screen Five (Open cloze)  
Eurocheques  
Question one: the 
Question two: another 
Question three: on 
Question four: can 
Question five: there 
 
Screen Six (Listening – 3 option multiple choice graphics)  
How much is the watch?  
Answer:  A 
 
Screen Seven (Reading – 3 option multiple choice graphic)  
Lakeland Furniture  
Answer:  B 
 
Screen Eight (4 option multiple choice cloze)  
A Communication Problem  
Question one: response 
Question two: contacting 
Question three: change 
Question four: managed 
Question five: forward 
 
 

 


